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Long Sight
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Someone who has long sight cannot read
without glasses. The eye is not strong
enough to bring rays from a nearby object
10 a focus inside the eve and the rays form
a blurred image on the retina
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A comverging lens is used 10 correct long
sight. The diverging rays from close
objects are made more parallel. The
correct lens for the patient makes the rays
\form a sharp image on the retina.

A converging lens is used to
correct long sight.
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Short Sight
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Someone who has short sight cannot see
fur away objects clearly without glasses
The eye brings rays from distant objects to
a focus 100 early and the rays form a
blurred image on the retina.
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A diverging lens is used to correct short
sight. The parallel rays from far objects
are made 1o diverge. The correct lens for
1he patient makes the rays form a sharp
image on the retina.

A diverging lens is used to correct
short sight.





